REB—T A FBER

FRNIFVIFTOHEI—FRAE—r FE2RRIZEABEOPK(ZOHRYRITR) FEIBHA—REIERBIHYES (AR TR EONEIBETHRENLET)

No| ErRS |13%-49-13% AT XTEE AEEEl B Bm Xt HEEE| B
1]11:40 ~ 12:10 E‘T‘/:CFHNchmw @ NEss | EBhiBsss - T5/\sss ARG
2[12:20 ~ 12:50|gBTazFrc- S = O nEBpss wox41v+|MEGEREFC——— 2 EFC 55 /\sss
3113:00 ~ 13:30 |NFCRTAL YA 0 ° KE®PEBsss @ BB Hss iiEEFJIIssg KEB5SC TRATUHLEFC
4113:40 ~ 14:10|EB2=7FC g ; FEFC @ ForgqA—5| 22z rmrc - L EEHss EEss
5]14:20 ~ 14:50 E.%Flﬂ‘éﬂsssu KESC INFss | TS5/\88S : 2 =SS St EEFC
6|15:00 ~ 15:30| thHEHFC g g IRAR5UY+EFC NFezxzrva|  INEPSS 0 : 3 DIVINEZEH J5/\sss
No| EFRE |139-49-13% Cm xt# HEBEE| EB DmE x5 HEEE| EB
111:40 ~ 12:10] BEss :;jcizq:ljllss @ DIVINEZEH |FC.qA—S - 2 KESC FC &
2112:20 ~ 12:50 | z2~5>9xmFc 21 ; DIVINEZE: H# @ KiEH)lss| BSEFHSS S : 1 FC B @ KESC
3113:00 ~ 13:30 E‘7y:CFH J5/\sss @ MEGEREFC| = &=SS 3 : 0 FC.H1A—5 EBU1=FFC
+|13:40 ~ 14:10| JNEPss ———  MEGEREFC E&oisss|DIVINERS ——— FC B £ 720k
5{14:20 ~ 14:50 |NFoxTFR VS 0 Kigrh)l|ss DIVINEZE 3 If'?‘/:lCFg FC.isA4—5 FC &
6 |15:00 ~ 15:30|BART2=FFC— 2 #EIMss KIE)llss MEGERE.FCH FC B KESC




(;EFC)

rﬁtjyjj‘_lsjj\yj 09 B ITAXRTUHLTHFC (11&3’/*11:;:”8 1B | =x~5ovtmrc
(1- 2RI —FAR) I @ ShEFC
A 3fz | =HMss
BUa=7FC tEFC BUa=7FC = ) " 4f1 |RaC2=7FC
(2E ;1_7 ) @G EIEI2 )2 (1E $a1=7FC) (75!?3333)2 (41 SoY+E (Egmss)o = oV
1 6L | /INEss
Am QD CHE B 741 |MEGEREFC
86| FC 5
6 0 0 2 1 2 0 1 5 1
A B Ca @ DE @
RBY21=7FC INEFss MEGERE.FC SHEFC zz~zv4x@rc] |DIVINEZEFH| | BEFHss FC &
CHE DA DM
1 1 01 13 ! 0 9 0
(/INBFss) (MEGERE.FC) ~ (MEGERE.FC) (FC B)  (DIVINEE#H#) (FC B)
B&
0 I 3 = BA
(1MVEyss) (DIVINEZE: 3$) = PK



A—X# (ZE%HSSS) Bl EEmses (KESO) 0 B | £ 5 haposs
(8- 4fith—FAUL) 1 #EpE| KBHSC
AE 3L [NFezxTA v
_ _ AL | KHEH)Ilss
(NFCRTAILYA) (EEH#Rsss)  (NFCRTALYA) (KiEh)ilss) (KiEdh)ilss) (KESC) —
0 5 4 0 0 1 5L | &Ess
] 6z | 75 /3sss
AE @) CH BE 745 [Feor—5
84 |E7>aCF
0 1 2 0 6 0 1 1 2 1 1 2
AR @ B&E Ca @ D&
E7>aCF| |Nczotnvs| |EBdEpsss| | 75/3sss B ESsS KiEd]l[ss| |FCH1A—> KESC
CEm @ D& D&
0 2 30 O I 1 3 0
(E7>2CF) (F5/1\sss) (E7>aCF) C.h1A—3) (E=ss) FC.H14—3)
Bi&
0 | 2 = f:Ef)ﬁ
(FS57\sss) (B=ss) = PK



